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Question Number : 1 Question Id : 2945221005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

The unit of electric charge is
Options:
| ® Ampere

> « Coulomb
=z % Joule

4 % Weber

Question Number : 1 Question Id : 2945221005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

fega ==t 98X #r 3 gl

Options:
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Question Number : 2 Question Id : 2945221006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

One Watt power 1s equal to
Options:

, « 1joule/sec

> % 1 coulomb / sec
=z % 1 newton/ sec
4 % 1ampere/sec

Question Number : 2 Question Id : 2945221006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:
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Question Number : 3 Question Id : 2945221007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What will happen to the value of resistance of a wire if its thickness is increased?

Options:
1 #® Remains same

- # Increases
= « Decreases
4 % DBecomes infinite

Question Number : 3 Question Id : 2945221007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:
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Question Number : 4 Question Id : 2945221008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What happens to the resistance of conductors when the temperature increases?

Options:
1 « Increases

- # Decreases
- % Remains same
, % Changes unpredictably

Question Number : 4 Question Id : 2945221008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:
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Question Number : 5 Question Id : 2945221009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Identify the material with the highest resistivity.

Options:

| % Copper
> % Silver

5 Tungsten

4 % Aluminum

Question Number : 5 Question Id : 2945221009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:
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Question Number : 6 Question Id : 2945221010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which of the following is not an electrical conductor?

Options:
1 + Diamond

> % Platinum
z % Gold
4 % Silver

Question Number : 6 Question Id : 2945221010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:
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Question Number : 7 Question Id : 2945221011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
One Ampere of current can be described as the flow of

Options:
1 #% 16X 10717 electrons / sec
- % 16X 10723 electrons / sec

3 o 0.28X 101® electrons / sec

4 % 6.28X 1023 electrons / sec

Question Number : 7 Question Id : 2945221011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
fega o # v TR A & 94918 & &7 H IO FAT I HHaT 2

Options:

 » 1.6 x 10719 soreeiey [ w3

, % 1.6 x 1072 sorFerea | T3

. v 6.28 x 101® zomew / O%s
, » 628 x 10% sorrdieq / Bz

Question Number : 8 Question Id : 2945221012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Identify the equation for Ohm’s law.

Options:

1 % V=I/R
> % V=R/I
z % R=VI
4 I=VIR

Question Number : 8 Question Id : 2945221012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

Hew F Fax &7 g g
Options:

1 #= V=1/R

o % V=R/I

2% R=VlI

.v1=VI/R



Question Number : 9 Question Id : 2945221013 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

Which effect of electric current is used in relays?
Options:
, = Heating

> % Chemical

- « Magnetic

, % Physical

Question Number : 9 Question Id : 2945221013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
Rer 7 fogga arr & Fig & 977 & 39AT R Sar 87

Options:
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3¢ 2

4%33#%3‘_1

Question Number : 10 Question Id : 2945221014 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What would be the voltage across the 30 ohms resistor?
10 ohme 20 ohms 30 ahma

o I o N
Il

120 Vol

Options:
1 % 30 Volts

> % 45 Volts
5 « 60 Volts
4 % 90 Volts

Question Number : 10 Question Id : 2945221014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Options:



, % 30 dee
- % 45 g
2 « B0 diee
4 % 90 dieeT

Question Number : 11 Question Id : 2945221015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What will be the current through a 1000 watts heater connected to a 230 V supply voltage?

Options:
| ®% 2.3 Amps

5 % 0.23 Amps
5 4.34 Amps
4 % 0.434 Amps

Question Number : 11 Question Id : 2945221015 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

230 V & A Ao W 3 gU TH 1000 A€ F &R F qaIEd g Aol faege onr foraer gem?

Options:

, % 2.3 Amps
5 » 0.23 Amps
5 v 4.34 Amps
4 » 0.434 Amps

Question Number : 12 Question Id : 2945221016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What would be the value of the current Ix shown in the figure?

24
Options:

1 % 8A
- % 5 A
z ¢ 4A
4 % Zero

Question Number : 12 Question Id : 2945221016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 3
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Options:

1 & 8 A
o W 5A

4% EF

Question Number : 13 Question Id : 2945221017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What would be the equivalent resistance for 10 resistors each of 120 € connected in series?

Options:
| % 120KQ

> % 12KQ
5 ¢ 12KQ
4 % 1209

Question Number : 13 Question Id : 2945221017 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

g 120 Q@ & 10 9fauerert & Aol # J=Ea 9T 3997 THFET I a1 gem?
Options:

| % 120 K@
- % 12 K@
2 v 1.2 KQ
L % 120 @

Question Number : 14 Question Id : 2945221018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

As per NEC. what does the symbol shown in the figure represent?

o

Options:
1 % An indicator

- % Coaxial cable

= # Fuse



4 « Overhead line

Question Number : 14 Question Id : 2945221018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 15 Question Id : 2945221019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

What is the symbol for a starter?

Options:

{
|

8

—J

3

4 *

Question Number : 15 Question Id : 2945221019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:
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Question Number : 16 Question Id : 2945221020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
In which year was the National Electricity Code formulated?

Options:
1 % 1950

5 % 1968
3 % 1972
4« 1985

Question Number : 16 Question Id : 2945221020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
F ¥ a0 H T [Fgga dfgar (Ava s {er ®i3) A H S of?

Options:

% 1950
- % 1968
2 % 1972
., v 1985

Question Number : 17 Question Id : 2945221021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

Which of the following is NOT covered by NEC?
Options:

. w Electrical appliances standards

- % Installation rules

s % Electrical safety

4 « Power tariffs

Question Number : 17 Question Id : 2945221021 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
F=faf@a & @ Fia-wr NEC & 370919 a8t 3mar 87
Options:
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Question Number : 18 Question Id : 2945221022 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which material is best suited for use as a heating element?

Options:
| % Copper

- % Silver
3 « Nichrome

4 % Aluminum

Question Number : 18 Question Id : 2945221022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Options:
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Question Number : 19 Question Id : 2945221023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the process of passing electric current through an electrolyte for the purpose of coating called?

Options:

, % Electrolysis

-  Electroplating
5 % Screen printing

, % Electro printing

Question Number : 19 Question Id : 2945221023 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 20 Question Id : 2945221024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
In the process of electrolysis, the weight of the substance deposited does NOT depend on

Options:
1 # Current

> % Electrochemical equivalent
- % Time
4  Temperature

Question Number : 20 Question Id : 2945221024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:
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Question Number : 21 Question Id : 2945221025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
What is the full form of PVC that is used for cable insulation?
Options:

, w Polyethylene vitreous compound

> % Polychloroprene vitreous compound

5 « Polyvinyl chloride

, % Polyvinyl chemical

Question Number : 21 Question Id : 2945221025 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Options:
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Question Number : 22 Question Id : 2945221026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the formula for the time period (t) of an AC waveform with frequency f Hertz?

Options:

1 % t=2nf
5 % t=£/2
z ¢ t=1/1
4 % t=£/3

Question Number : 22 Question Id : 2945221026 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

HgTed f &&= el v AC T T 5T AW (1) F e g3 F=mw E?
Options:

1 # t = 2nf

L% t=f/2

5 v = 15%

L% t=f/3

Question Number : 23 Question Id : 2945221027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the number of radians in one cycle?

Options:
i % 360

> % 180
=z # I
4. 2T

Question Number : 23 Question Id : 2945221027 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

Us 9% H IETw Ffr g=ar F724r adr 87
Options:

| % 360
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4 ¢ 21



Question Number : 24 Question Id : 2945221028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
RMS value of a sine wave is equivalent to
Options:

; ¢ DC voltage of same value

> % AC value of double the frequency

- % half wave rectified signal

, % half the peak value

Question Number : 24 Question Id : 2945221028 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
U WISA AT 1 F97 AT 7qA (RMS) & TET AT g

Options:

| v TAF A & DC Free

.« &I 3fed F AC AT

4 % 3TIAH AT & AT

Question Number : 25 Question Id : 2945221029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the common name given to a component of AC power developed by the inductors and capacitors in a circuit?

Options:
, % Inductive power

» % Capacitive power
-  Reactive power

4 % ‘Wastage power

Question Number : 25 Question Id : 2945221029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
T IROY #F 9T 3’k gulE carr TsflaT AC 99T & TS IUSRUT I HEET diT 9 FAT FET AT 87

Options:
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Question Number : 26 Question Id : 2945221030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the name given to the ratio of the RMS voltage to the average voltage of an AC waveform?

Options:
1 % Time constant

> % Time period
=z % Power factor

4 +« Form factor

Question Number : 26 Question Id : 2945221030 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

U T AT A (RMS) Fees § AC 6T & AIEd Jiocet & a1 4T Fal AT 872
Options:
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Question Number : 27 Question Id : 2945221031 Question Type: MCQ. Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the preferred and perfect value of power factor?

Options:
1 ® Zero

- # Less than zero
z « Closest to 1
4 % DBetween 12 and 20

Question Number : 27 Question Id : 2945221031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
oifFa o & sftAeT ik 9t A= &= 82

Options:
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Question Number : 28 Question Id : 2945221032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the value of phase difference between the phases of a three phase supply?

Options:
, % 360 degrees
o % 180 degrees

5] 2 .
5 « 120 degrees

4 % 90 degrees

Question Number : 28 Question Id : 2945221032 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
T A B AT & FAl F S e A T AT FT 82

Options:

, % 360 f2=ftr
> % 180 2l
- « 120 3l
4 % 90 f==fr

Question Number : 29 Question Id : 2945221033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Earthing is necessary for the
Options:

Y, safety of users and machines

- x safety of MCBs

5 % protection against overloads

, % protection during power cuts

Question Number : 29 Question Id : 2945221033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

STHTF F BT smaTs B

LY

Options:

lwmm}ﬁﬁ?mﬁﬁﬁw
MCBs T TTa

o ® >

- HETels T gIar



L fersteir &1 sateh & = geaT

Question Number : 30 Question Id : 2945221034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which one of the following is a semiconductor material?

Options:
1 % Indium

> % Copper
5 % Arsenic
4 « Silicon

Question Number : 30 Question Id : 2945221034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

F=afea § O Fia-ar T =T 99y 27

Options:
o % Qe
4 v TR

Question Number : 31 Question Id : 2945221035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

The majority carriers in a P type semiconductor are
Options:

1 % Electrons

- % Protons
5 % Neutrons
4 « Holes

Question Number : 31 Question Id : 2945221035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 32 Question Id : 2945221036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
When does a PN junction diode act as a closed switch?

Options:
1 « When forward biased

> % When reverse biased
=z % When not biased

4 % When bias voltage is below 0.3 Volts

Question Number : 32 Question Id : 2945221036 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:
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Question Number : 33 Question Id : 2945221037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

During which cycle of the input signal does a full wave rectifier conduct?
Options:
, w Positive half cycle

- % Negative half cycle
- » Positive half and part of negative half cycle

4  Both positive and negative half cycles

Question Number : 33 Question Id : 2945221037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
STIC Hohdl o Wit § T & SN T JUT 9T JFEIBRR FaTore @il 872

Options:
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Question Number : 34 Question Id : 2945221038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What must be the polarity of emitter and collector terminals for a PNP transistor to act as an amplifier?

Options:
1 « Emitter +ve and Collector —ve

> % Both Emitter and Collector +ve
z % Both Emitter and Collector —ve

4 % Emitter —ve and Collector +ve

Question Number : 34 Question Id : 2945221038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

U TFEBRR & T H FE H & 0T T PNP gifewet & 3caeie 3R HIES Al o gaadm
FAT AT TRET?

Options:

| v 3c8=% +ve 3R HAEF -ve
. % 3cHelh 3R TIAES ar +ve
. % 3c8= AR FIAESF aAr -ve
, % 3cHe —ve 3R TAES +ve

Question Number : 35 Question Id : 2945221039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the number of junctions in an SCR?

Options:
1 1

2_332
3¢ 3
4 % 4

Question Number : 35 Question Id : 2945221039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

T THENT & FFeET 1 9T &FFaar gdr 82
Options:

1 1
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z ¢ 3
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Question Number : 36 Question Id : 2945221040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the number of Bits in a Byte?

Options:
1 % 4
o 8
z % 12
4 ® 16

Question Number : 36 Question Id : 2945221040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

U 915¢ H 9oy & = Faar aar &2
Options:

1 % 4
2 ¢ 8
2 % 12
4 % 16

Question Number : 37 Question Id : 2945221041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the decimal equivalent of the binary number 11117

Options:
1 3

oo 12
3 ¢ 15
4 ® 16

Question Number : 37 Question Id : 2945221041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
SIeI0T (STSAT) WEAT 1111 7 ZAHGT THFE ¢

Options:

1 % 8
> % 12
3¢ 15
4 % 16



Question Number : 38 Question Id : 2945221042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the number of digits in a hexadecimal number system?

Options:
1 #® .

o W 8
T W 10
4 « 16

Question Number : 38 Question Id : 2945221042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
FEeee gEaT o & a7 T gEr Baer i 37
Options:

1 # 2
o W 8
T W 10

4 v 16

Question Number : 39 Question Id : 2945221043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Identify the symbol for an AND gate from the given options.

Options:

TE .

2. ¢ :D_
_x AL

4 ® D_

Question Number : 39 Question Id : 2945221043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

foar 7 eredt # & AND 91T & T 9de 9g=ma|

Options:

1. % D_

,ve 1
L x AL
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Question Number : 40 Question Id : 2945221044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which of the following gates are referred to as the universal gates?

Options:
, % AND gate and OR gates

> « NAND gate and NOR gates
5 % OR gate and EX OR gates

4 % AND and NAND gates

Question Number : 40 Question Id : 2945221044 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Options:

. % AND 91T 3Rk OR 3T

- v NAND 7T 3R NOR &
- » OR 9T 3R EX OR 3¢
4 » AND 71E 3T NAND e

Question Number : 41 Question Id : 2945221045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What happens to the capacitance when the area of the plates of a parallel plate capacitor is increased?

Options:
1 % Remains unaffected

- o Increases
= # Decreases

, % Fluctuates between high and low

Question Number : 41 Question Id : 2945221045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 42 Question Id : 2945221046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the relation between capacitive and inductive reactance at resonance?

Options:
L % XL = Xc

> x XL < X¢
3¢ XL = Xc

Question Number : 42 Question Id : 2945221046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Options:

Question Number : 43 Question Id : 2945221047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
On what principle does a transformer work?

Options:

, w Faraday’s laws
> % Lenz’s laws
= % Self Induction

4 + Mutual Induction

Question Number : 43 Question Id : 2945221047 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
U PR T T TEE 9T F1F FTar 27

Options:

. % o= T @TH
5 % FE-YIOT




L v FOTT e (F5990)

Question Number : 44 Question Id : 2945221048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
When the number of turns in the secondary is less than those in the primary. the transformer is called

Options:
1 # Auto transformer

5 % Current transformer

5  Step down transformer

4 % Step up transformer

Question Number : 44 Question Id : 2945221048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 45 Question Id : 2945221049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
The operation of DC generator is based on which of the following mentioned laws?

Options:
1 % Kirchoff™s laws

-  Faraday’s laws
= % Norton's theorem

, % Superposition theorem

Question Number : 45 Question Id : 2945221049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 46 Question Id : 2945221050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the function of a commutator in a DC generator?

Options:
, % 7To provide path for the lines of flux

> « To convert the AC current to DC current

- % To support the armature during rotation

4 % Toreduce the eddy curent losses

Question Number : 46 Question Id : 2945221050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:
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Question Number : 47 Question Id : 2945221051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What material is used for the brushes in a DC generator?

Options:
| % Copper

- « Carbon
3 % Steel

4 % Aluminum

Question Number : 47 Question Id : 2945221051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 48 Question Id : 2945221052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

What is the number of parallel paths in wave winding?
Options:

1. %

o W

T R

[ ST AR =« I o}

4

Question Number : 48 Question Id : 2945221052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Options:
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Question Number : 49 Question Id : 2945221053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
‘What is the term that describes the tendency of a force to cause rotational motion?

Options:
1 #® Armature reaction

5 % Angular momentum
5 forque

4 % Flux

Question Number : 49 Question Id : 2945221053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 50 Question Id : 2945221054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

Which one of the following quantities in a DC motor is directly proportional to the armature current?
Options:

| Torque

- % Flux
- % Inertia
4 % EMF

Question Number : 50 Question Id : 2945221054 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 51 Question Id : 2945221055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
In terms of supply voltage E. back EMF E;, armature current I, and armature resistance R,. which one of the following
is the equation for a DC motor?

Options:
1 # E=IaRy

5 o BE=Fg+L Ry
.« E=Ey-LR,
4 B El1=E+IaRﬂ

Question Number : 51 Question Id : 2945221055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Options:

L« E= 2R,
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4 % Eb=E + 13 R

Question Number : 52 Question Id : 2945221056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What will happen to the back EMF if the rotational speed of the motor increases?

Options:
1 % It decreases
- o It increases

= % It becomes zero

4 % It is not affected

Question Number : 52 Question Id : 2945221056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 53 Question Id : 2945221057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

What is the value of the back EMF of a motor at startup?
Options:
, = Equal to supply voltage

> % Equal to armature drop

5  Equal to zero

, % Half the supply voltage

Question Number : 53 Question Id : 2945221057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
WIEHT UT TF AT & 97 (FF) STHATE 7 AT FIT 21T 82

Options:

- diees #r Hfa & TR
L w THIT I &F T




3_¢aﬁﬁw

, u FeCS HN A FT Tl

Question Number : 54 Question Id : 2945221058 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
‘What is the purpose of a starter in a DC motor?

Options:
, w Todelay the motor starting

- % Toraise the temperature slightly
=  To limit the starting current

, % Toachieve the maximum speed

Question Number : 54 Question Id : 2945221058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 55 Question Id : 2945221059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
In measuring instruments, the nearness to the actual value is referred to as

Options:
1« accuracy

- % resolution
5 % precision

4 % correctness

Question Number : 55 Question Id : 2945221059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 56 Question Id : 2945221060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
A moving coil meter can measure

Options:

, % only AC

-  only DC

=z % both AC and DC

, = only frequency

Question Number : 56 Question Id : 2945221060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 57 Question Id : 2945221061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

What is the term given to the difference between the synchronous speed and rotor speed of an induction motor?
Options:
. % Lag

> % Phase difference

5  Slip

4 % Lead

Question Number : 57 Question Id : 2945221061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 58 Question Id : 2945221062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What does the symbol given below indicate?

X

Options:
, % Stopsign

- % Danger sign

5 Lamp

4 % Junction

Question Number : 58 Question Id : 2945221062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

Jr T T gdeE a3 Afese Far g
-Xr

Options:

| % Tehed W Hehd
- % TaY & Thd
s v &

4 % SFAT

Question Number : 59 Question Id : 2945221063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
How many digits are there in the binary number system?

Options:
1. ¢ 2

o R 8
ST ] 10
4 16

Question Number : 59 Question Id : 2945221063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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1. 2
o % 8
z % 10
4 % 16

Question Number : 60 Question Id : 2945221064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

What is the binary number equivalent of the decimal number 77
Options:

1 #® 11

5 & 111
5 % 1111
4 % 1111111

Question Number : 60 Question Id : 2945221064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:

1 *® 11

> @ 111
2 % 1111

L% 1111111

Question Number : 61 Question Id : 2945221065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

The output of a two input logic gate is HIGH only if input 1 and input 2 are both HIGH. Identify the gate from the
options given below.

Options:

| AND gate

5 % OR. gate

5 % NOT gate
4 % NAND gate

Question Number : 61 Question Id : 2945221065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Options:



, v AND 3T
- % OR ?T
= % NOT I
4 % NAND 912

Question Number : 62 Question Id : 2945221066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Identify the name of the gate shown below.

) -

Options:
. = AND gate

5 of OR. gate
5 % NAND gate

4 % NOR gate

Question Number : 62 Question Id : 2945221066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Options:

; % AND 3T
> v OR 71T
= % NAND 1€
4 ®* NOR 71

Question Number : 63 Question Id : 2945221067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the purpose of shunts in measuring instruments?
Options:

, % Increasing the range of voltmeter

-  Increasing the range of ammeter

- » Increasing the range of ohmmeter

, % Increasing the range of wattmeter

Question Number : 63 Question Id : 2945221067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 64 Question Id : 2945221068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is a megger generally used for?
Options:

. w Very high power measurement

> % very high voltage measurement

- % very high current measurement

4 o eIy high resistance measurement

Question Number : 64 Question Id : 2945221068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 65 Question Id : 2945221069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What function does a DC generator perform?
Options:

, % Convert electrical energy to thermal energy

-~ % Convert mechanical energy to light energy

- » Convert electrical energy to mechanical energy

4 « Convert mechanical energy to electrical energy



Question Number : 65 Question Id : 2945221069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 66 Question Id : 2945221070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

The voltage generated in a DC generator depends mainly on the
Options:

, « Tate of change of flux linkages

- % size of the generator

= % material used for the coils

4 % fuelused for the generator

Question Number : 66 Question Id : 2945221070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 67 Question Id : 2945221071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which part of a DC generator acts as a rectifier?

Options:
1 #% Armature

- % Poles
= « Commutator

4 % Brushes



Question Number : 67 Question Id : 2945221071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 68 Question Id : 2945221072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

The winding which produces the magnetic field in a DC motor is called
Options:
| « Field winding

- % Armature winding

5 » Primary winding

, % Flux winding

Question Number : 68 Question Id : 2945221072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 69 Question Id : 2945221073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
In which type of DC motor is the field coil connected in series with the armature coil?

Options:
1 % Shunt wound motor

> « Series wound motor

s % Compound wound motor



, % Separately excited motor

Question Number : 69 Question Id : 2945221073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 70 Question Id : 2945221074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the purpose of filter in rectifiers?

Options:
1 % To increase the current

-  Toremove the ripple

% % To reduce the flicker

, % Toincrease the efficiency

Question Number : 70 Question Id : 2945221074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 71 Question Id : 2945221075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

Which type of DC motor should NOT be started on No Load?

Options:
1 « Series motor

> % Shunt wound motor



= % Series wound motor

4 % Separately excited motor

Question Number : 71 Question Id : 2945221075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 72 Question Id : 2945221076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What is the main advantage of three phase induction motors?
Options:

, % They require three phase supply

- % They donotrequire a commutator

5  They are self starting

4, % They are smaller in size

Question Number : 72 Question Id : 2945221076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

AT %S FT FIFAST AT F HET WA T 87

Options:

| 39 A G A F RIS A 2
L x FH FEIIIR T AETHAT T A B

. » TE TaA: T & Tehar E
, » TE HFER & O g &

Question Number : 73 Question Id : 2945221077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
What happens to the synchronous speed of a three phase induction motor when the supply frequency increases?

Options:

, % Speed decreases



o  Speed increases

- % Speed remains same

4 % Speed increases and decreases alternately

Question Number : 73 Question Id : 2945221077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 74 Question Id : 2945221078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which fuel do thermal power stations basically use to generate power?

Options:

1 % Solar energy
> o Coal

= % Hot water

4 % Nuclear power

Question Number : 74 Question Id : 2945221078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 75 Question Id : 2945221079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

What is the expansion of the term HRC in an HRC fuse?
Options:

, % High Rated Current



- « High Rupturing Capacity

- » High Reversing Capability

, % HighRange Capacity

Question Number : 75 Question Id : 2945221079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 76 Question Id : 2945221080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
When was Industrial Development Bank of India (IDBI) established?

Options:
;% 1992

> « 1964
5 % 1954
4 % 1996

Question Number : 76 Question Id : 2945221080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 77 Question Id : 2945221081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Where is the central AGMARK laboratory located in India?
Options:

1« Nagpur

> % Mumbai
5 % Chennai

4 % Jaipur

Question Number : 77 Question Id : 2945221081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 78 Question Id : 2945221082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

Under which Five Year Plan, Sindri Fertilizer Factory was established in India?
Options:

, % 299 Five Year Plan

31'[1

o % Five Year Plan

5 % 4% Five Year Plan

4 « 1°'Five Year Plan

Question Number : 78 Question Id : 2945221082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 79 Question Id : 2945221083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

First Hydel Power project in India was started in:
Options:

| « Darjeeling

> % Chennai
= % Pune
4 % Panaji

Question Number : 79 Question Id : 2945221083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 80 Question Id : 2945221084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Where is the headquarters of International Monetary Fund?

Options:
1 % Geneva

- #% Oftawa

5 « Washington DC

4 % London

Question Number : 80 Question Id : 2945221084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 81 Question Id : 2945221085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which Five Year Plan in India is also known as ‘Gadgil Yojana’?

Options:

1 ® 289 Five YVear Plan
o o 3 Five Year Plan
z % 4™ Five Year Plan

4 % 1% Five Year Plan

Question Number : 81 Question Id : 2945221085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 82 Question Id : 2945221086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Who among the following presented the ‘Sarvodaya Plan” (an economic plan) in India?

Options:
1 % Mahatma Gandhi

> % M.N.Roy
-  Jai Prakash Narayan

4 % Manmohan Singh

Question Number : 82 Question Id : 2945221086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 83 Question Id : 2945221087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

Which country bagged the highest number of medals at the 17% Asian Games held in?
Options:

1 « China

> % South Korea

o % Japan

4 % Thailand

Question Number : 83 Question Id : 2945221087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 84 Question Id : 2945221088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Who was the flag bearer for India at the Rio Olympics 20167
Options:

, » Rajvardhan Singh Rathore

> « Abhinav Bindra

- % Mary Kom

4 % Saina Nehwal

Question Number : 84 Question Id : 2945221088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 85 Question Id : 2945221089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which country will be hosting the 2018 FIFA world cup?

Options:
, » England

o % Spain
5 % Qatar
4 « Russia

Question Number : 85 Question Id : 2945221089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 86 Question Id : 2945221090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Who has won the ‘battle of Hydapases’?

Options:
1 « Alexander

-~ % Porus
= % Ashoka

4 % Ibrahim Lodhi

Question Number : 86 Question Id : 2945221090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 87 Question Id : 2945221091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which Governor General has enforced doctrine of lapse in India?

Options:
1 % Lord Mountbatten

- % Lord Curzon
= « Lord Dalhousie

, % Lord Lytton

Question Number : 87 Question Id : 2945221091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation: Vertical

Correct : 3

Hid T IR T A AR H A9 1 fAGed I g5 Afa Ay Hr A2

Options:
| % oS A3
o v IS SERIST

Question Number : 88 Question Id : 2945221092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Who founded the city of Agra?

Options:
1 % Bahlol Lodhi

> % Ibrahim Lodhi
3 « Sikander Lodhi

4 % Alam Shah

Question Number : 88 Question Id : 2945221092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 89 Question Id : 2945221093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
During whose term the Indian Independence Act was passed in the year 19477

Options:

1 % Lord Wavell

> « Lord Mountbatten
z % Lord Irwin

, % LordLing Lithgow

Question Number : 89 Question Id : 2945221093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 90 Question Id : 2945221094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which country is known as the ‘Gift of Nile?

Options:
, « Egypt

- » laly

5 % Spain

4 % France

Question Number : 90 Question Id : 2945221094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

FlT T A FI el AEr & 3UER & T H AT AT 872

Options:




1. ¥ g

o ® PCC
T W Fq?'r
T m

Question Number : 91 Question Id : 2945221095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
The mountain peak ‘Godwin Austen’ is also known as:

Options:
1 ® K3

= W K2
T W K1l
g W K4

Question Number : 91 Question Id : 2945221095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 92 Question Id : 2945221096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

Where is Indira Gandhi Nahar project located in India?
Options:

, % West Bengal

> % Orissa

5 % Madhya Pradesh

4  Rajasthan

Question Number : 92 Question Id : 2945221096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 93 Question Id : 2945221097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Who appoints the Comptroller and Auditor general (CAG) in India?

Options:
1 % Union finance minister

- % Prime minister
3 « President

4, % Chief justice of supreme court

Question Number : 93 Question Id : 2945221097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 94 Question Id : 2945221098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which state in India has the second highest number of Lok Sabha constituencies?

Options:

1 % Uttar Pradesh
> « Maharashtra

= % Andhra Pradesh

4 % Rajasthan

Question Number : 94 Question Id : 2945221098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 95 Question Id : 2945221099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Which article of Indian constitution contains the definition of money bill?

Options:
1 % Article 115

> % Article 121

=z % Article 101
4 « Article 110

Question Number : 95 Question Id : 2945221099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 96 Question Id : 2945221100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3

Whose autobiography is titled as ‘Playing it my way’?
Options:

1 % Sania Mirza

- % Rafael Nadal
5 « Sachin Tendulkar
4 % Rahul Dravid

Question Number : 96 Question Id : 2945221100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 97 Question Id : 2945221101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
Who is the author of the famous book ‘Swami and Friends’?

Options:
1 #% Jai Shankar Prasad

> % Sarojini Naidu
5 » Kushwant Singh

4 v B K. Narayanan

Question Number : 97 Question Id : 2945221101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
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Question Number : 98 Question Id : 2945221102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3

Who wrote the famous ‘Artharsastra’?
Options:

| « Kautilya

> % Panini
= % Vishnu Sharma
4 % vatsayana

Question Number : 98 Question Id : 2945221102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 99 Question Id : 2945221103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
Who received the Nobel prize in literature for the year 20167

Options:
1 % Alice Munro

>  Bob Dylan

=z % Patrick Modiano
4 % Mo Yan

Question Number : 99 Question Id : 2945221103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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Question Number : 100 Question Id : 2945221104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 3
World Wet Lands day is observed on:

Options:

; % December 224

- % March 20d

5 % January 2nd

4  February ond

Question Number : 100 Question Id : 2945221104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3
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